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Note : 
	

This question paper has three sections. Answer the 

questions as instructed in each section. Keep the given 
word limit in mind while answering questions. 

SECTION - I 
Note : 	Answer any two of the following questions 

in about 500 words each : 
1. What is understood by gender equality ? Discuss 

gender inequality in India with respect to 
education, health, economic and political 
participation. 	 5+20=25 

2. What do you understand by domestic violence ? 
How does domestic violence faced by 
women undermine the notion of family as 
a safe heaven ? Discuss with the help of 
examples. 	 10+15=25 

3. Explain what is productive and reproductive 
work ? Why is it not accounted for within 
standards of measurement of work ? Discuss by 
citing scholarly work and with the help of suitable 
examples. 	 10+15=25 

4. Write an essay on 'women and mass media'. 	25 
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SECTION - II 

Note : 
	Answer any two of the following questions 

in about 300 words : 

5. What is understood by masculinity ? Explain 
different types of masculinities that you have read 
about in your course material. 	 5+10=15 

6. Explain concepts of health, quality of life and well 
being. How do these affect women in general ? 
Discuss. 	 10+5=15 

7. Describe issues faced by women workers in 15 
informal and formal sectors in India. 

SECTION - III 

8. Write short notes on any four of the following in 
about 50 words each : 	 5+5+5+5=20 
(a) Gender Stereotyping 

(b) Gender Based Violence 

(c) Endogamy and Exogamy 

(d) Double Burden 

(e) Representation 
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